


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

Third Year
Commerce
COST ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks questions should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are the advantages and limitations of cost accounting?

AhUPÂø»U PnUQ¯¼ß |ßø©PÐ® SøÓ£õkPÐ® ¯õøÁ?
2. What are the functions of a store keeper?

Qh[S Põ¨£õÍ›ß £oPÒ ¯õøÁ?
3. What are the features of job costing?

÷Áø» AhUPa ö\»Ä •øÓ°ß A®\[PÒ ¯õøÁ?
4. State any five essentials of a good wage system.

J¸ |À» T¼ •øÓ°ß •UQ¯zxÁ[PÒ H÷uÝ® I¢vøÚU SÔ¨¤kP.
5. What is process costing?

£i{ø» AhUPÂø» GßÓõÀ GßÚ?
SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Explain the different methods of overheads.

÷©Øö\»ÄPøÍ ÁøP¨£kzx® •øÓPøÍ ÂÁ›.
7. Two components, A and B are used as follows :

	Normal usage 3,000 units per week each

	Minimum usage 1,500 units per week each

	Maximum usage 4,500 units per week each

	Re-order quantity A :  13,000 units

	                             B : 14,000 units                          

	Re–Order period A :  4 to 6 weeks

	                             B :  2 to 4 weeks


Calculate for each component :

(a)
Re – order level

(b)
Minimum level

(c)
Maximum level

(d)
Average stock level.

‘A’ ©ØÖ® ‘B’ BQ¯ Cµsk ö£õ¸mPÎß £¯ß£õk ¤ßÁ¸©õÖ :

	C¯À£õÚ £¯ß£õk Áõµ® JßÖUS 3,000 A»SPÒ

	SøÓ¢uÍÄ £¯ß£õk Áõµ® JßÖUS 1,500 A»SPÒ

	AvPÍÄ £¯ß£õk Áõµ® JßÖUS 4,500 A»SPÒ

	©ÖBøn GsoUøP A :  13,000 A»SPÒ

	                                  B : 14,000 A»SPÒ                         

	©Ö Bøn Põ»® B :  4 •uÀ 6 Áõµ[PÒ Áøµ

	                           B :  2 •uÀ 4 Áõµ[PÒ Áøµ


JÆöÁõ¸ ö£õ¸ÐUS® PnUQkP :

(A)
©Ö Bøn AÍÄ

(B)
SøÓ¢u AÍÄ

(C)
AvP£m\ AÍÄ

(D)
\µõ\› \µUS AÍÄ.
8. From the following particulars, prepare contract account :

	
	Rs.

	Materials purchased
	10,000

	Materials at end
	1,250

	Wages
	15,000

	Plant issued
	5,000

	Direct expenses
	8,000

	Contract price
	1,50,000

	Depreciation on plant
	1,000

	Indirect expenses
	15% on wages


Contract was completed.

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x J¨£¢uU PnUQøÚz u¯õº ö\´P.

	
	¹.

	‰»¨ö£õ¸Ò Áõ[Q¯x
	10,000

	CÖv°À EÒÍ ‰»¨ö£õ¸Ò
	1,250

	T¼
	15,000

	ö£õÔPÒ
	5,000

	÷|µi ö\»Ä
	8,000

	J¨£¢u Âø»
	1,50,000

	ö£õÔ «uõÚ ÷u´©õÚ®
	1,000

	©øÓ•P ö\»ÄPÒ T¼°À
	15%


J¨£¢u® {øÓÄ ö£ØÓx.
9. From the following information find out 

(a)
P/V ratio

(b)
Break even point

(c)
Profit and

(d)
Margin of safety.


Fixed cost 
=
Rs. 4,500



Variable cost =
Rs. 7,500



Total sales =
Rs. 15,000.

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x PõsP.

(A)
C»õ£ – AÍÄ ÂQu®

(B)
C»õ£ – |mh – ©ØÓ¨¦ÒÎ

(C)
C»õ£®

(D)
£õxPõ¨¦¨ £Sv 


{ø» AhUPÂø» 
=
¹. 4,500 


©õÖ® AhUPÂø»
=
¹. 7,500


ö©õzu ÂØ£øÚ
=
¹. 15,000.
10. Calculate 

(a)
Labour efficiency variance

(b)
Labour rate variance


Std. hours 

–
20 per unit


Std. rate

–
Rs. 5 per hr.


Actual production
–
1000 units


Actual hours
–
20,500 hrs


Actual rate per hr
–
Rs. 4.80


RÌUPõq® ÂÁµ[PÎ¼¸¢x

(A)
EøÇ¨¦ vÓß ÷ÁÖ£õk

(B)
EøÇ¨¦ Ãu ÷ÁÖ£õk BQ¯ÁØøÓU PnUQkP :


uµ ©oPÒ

–
J¸ A»QØS 20


uµU T¼ Ãu®
–
©o JßÖUS ¹. 5


Esø© EØ£zv 
–
1000 A»SPÒ


Esø© ©o ÷|µ® –
20,500 ©o


Esø© T¼ J¸ ©oUS – ¹. 4.80.

11. The profit as per cost accounting Rs. 80,000 while comparing with financial accounts the following difference were found.

	
	
	Rs.

	(a)
	Overheads as per cost account amounted
	16,000

	
	  as per financial a/c, 
	12,000

	(b)
	Directors fees not charged in cost a/c
	1,500

	(c)
	The company created doubtful debts
	1,200

	(d)
	Depreciation not shown in cost a/c
	1,200

	(e)
	Transfer fees received
	200

	(f)
	The amount charged to income tax
	10,000


        Prepare a reconciliation statement.

AhUPÂø» Hmiß »õ£® ¹. 80,000 {vU PnUQß HmiÀ Cøu J¨¦ ÷|õUS® ö£õÊx RÌUPsh Âzv¯õ\[PÒ Põn¨£mhÚ.

	
	
	¹.

	(A)
	AhUPÂø» PnUQÀ GÊu¨£mh ö\¯»ø©¨¦ ÷©Øö\»Ä
	
16,000

	
	BÚõÀ {v°¯À PnUQÀ Cx GÊu¨£mhx
	12,000

	(B)
	AhUPÂø» PnUQÀ GÊu¨£hõu C¯US|º Fv¯®
	
1,500

	(C)
	{Ö©® JxUQ¯ I¯UPhß Põ¨¦
	1,200

	(D)
	AhUPÂø» PnUQÀ GÊu¨£hõu ÷u´©õÚ®
	1,200

	(E)
	©õØÖU Pmhn® ö£ØÓx
	200

	(F)
	Á¸©õÚ Á›US GÊu¨£mhx
	10,000


          \›UPmk¨ £mi¯À u¯õ›UPÄ®.
12. Prepare a cost sheet from the following :

	
	Rs.

	Direct Material
	10,000

	Direct Wages
	5,000

	Direct expenses
	1,000

	Factory overheads
	6,500

	Administrative overheads
	3,480

	Output
	100 units


If profit is 25% on sales, what would be the selling price?

¤ßÁ¸£ÁÚÁØÔØS AhUPÂø»¨ £mi¯À u¯õ›UPÄ®.

	
	¹.

	÷|µi¨ ö£õ¸mPÒ
	10,000

	÷|µiU T¼
	5,000

	÷|µia ö\»ÄPÒ
	1,000

	Bø» ÷©Øö\»ÄPÒ
	6,500

	{ºÁõP ÷©Øö\»ÄPÒ
	3,480



    EØ£zv öÁÎ±k 100 A»SPÒ.

C»õ£® ÂØ£øÚ Âø»°À 25% GÛÀ, ÂØ£øÚ Âø» GßÚ?
————————
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